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Note: (i) There are in all 26 questions in this question paper. All questions are compulsory.

(ii) There are 10 parts in Question No 1. Each part'is a Multiple Choice Question. Here
four options are given in each question. Write the correct option in your answer book.
The question asked in each section carries one.mark

(iii) Question No 2 to 5 carry one mark each. Question No 6 to 15 carry two marks each.
Question No 16 to 23 carry three marks each and Question No 26 to 28 carry four marks
each. Question No 28 is based on Case study.

(iv) There is no overall choice in Question paper, however an internal choice has been
provided in two questions of 2 marks, three questions of 3 marks and all questions of 4
marks each. You have to attempt only. one of the given choices in such questions.
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Note-In following questions two statements are labeled ‘as Assertion and Reason.
While answering these questions, you are required.to choose any one of the
following four responses.
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Both Assertion and Reason are correct and the Reason is a correct explanation of
the Assertion.
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Both A and R are correct but Reason is'net a correct explanation of the Assertion.
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Ais correct, Ris incorrect
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